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AMH: fedie:_ R
Sx? + 2x° — 6x — 5x — 3x° Ox + 2x° + 4(6x° — 9x) + 3x°
3x+ 7x + 4(8)63 — 6x) — 3x° 30— x— 3(x+ 5x2) + 6x
6x° — 2x + 6x — 2(8x — 8x°) 4(4x% + 2% + 8% + 9 — 6x°
4(x3 + 2.x3) —7x— 3x—5x° 4(2)(3 - 9x) + 7> — 8x + 5x°
6x° — Tx + 2(8)63 — Ox) — 4x? 26 =3 + 4% - 2(5)63 + 6x3)
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HMH: %:rw THR: -
5%+ 2% — 6x — 5x — 3x? 0 + 20 +4(6x° — 9x) + 3x°
263 + 2 — 1lx 38x° — 36x
3x+ 7)(2+4(8x3 — 6x)—3x3 3x° —x—3(x+ 5x2)+6x
20x° + 7% — 21x 3 — 1522 + 2x
6x% — 2x + 6x — 2(8x — 8x?) 4(4x% + 2x%) + 8% + 9 — 6
16x° + 6% — 12x —6x> + 41x%°
4(x3 + 25 )—Tx—3x— 5x° 4(2x3 - 9x) + 7 — 8x + 5x?
12x° — 52 — 10x 153 + 5 — 44x
6x% — T + 2(8x° — 9x) — 4x? 260 =3x8 +x2 = 2(5x° + 6x°)
16x° + 222 — 25x —23x%° + ¥
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